
 

Right-Click Graphic for Options 

Item Current Part Description Replaced 
Part Qty Notes Kits/Assys 

Where Used

1 S-2501 SPEEDO 
ROTOR ASSY 4302242 1 MAGNETIC

2 5568511 -O- RING 1

K-2918, S-
2501, S-2503, 
S-2783, S-
2809

3 K-2918 OIL SEAL KIT 4302322 4302323 1 "FOR MAGNETIC 
COVER"

K-3339, K-
3340, K-3746

4 X-8-0801M CAPSCREW 2 M8 X 1.25 X 12MM

5 S-2809
REAR 
BEARING 
COVER ASSY

4302332 ,4303872 ,4304652 ,4305830 1 PUSH-IN/THREAD-IN 
MAGNETIC PICK-UP

6 1009551
GASKET - 
RED EDGE 
MOLDED

1

RED EDGE MOLDED 
GASKET - 
UNCOMPRESSED 
THICKNESS .043 - 
.051 - NOT 
INTERCHANGEABLE 
WITH ANY OTHER 
GASKET

See List

Página 1 de 3Eaton Inforanger

29/05/2012http://www.inforanger.roadranger.com/epc/print.asp?modelID=189&groupID=1159



6 4302247
GASKET - 
PURPLE EDGE 
MOLDED

1

NON EDGE MOLDED 
GASKET - 
UNCOMPRESSED 
THICKNESS - .013 - 
.018 - NOT 
INTERCHANGABLE 
WITH ANY OTHER 
GASKET

K-2262, K-
2918, K-3288

7 X-8L-611 CAPSCREW 4 3/8"-16X3-1/4"

7 X-8L-614 CAPSCREW 6 3/8"-16X2" USE 
W/4303872 RBC

7 X-8L-614 CAPSCREW 2 3/8"-16X2"

8 X-8L-602 CAPSCREW 17 3/8"-16X1-1/2"

8 X-8L-614 CAPSCREW 2 3/8"-16X2"

9 4302320 COVER 21346 2 S-2783

10 4305978 GASKET 4302246 2 K-3288, K-
3547, S-2783

11 K-2805 SHIM KIT 21452 K - 2106 1
K-3339, K-
3340, K-3746, 
S-2783

12 14335 GASKET 1 K-3288, S-
2783

13 4303586 REAR 
HOUSING 1

14 4304653 SHIELD 1 S-2809

15 20815 LIFTING EYE 2 S-2783

16 X-8L-604 CAPSCREW 8 3/8"-16X1-1/4" K-3547

19 86104 SPEEDO 
DRIVE GEAR 1

20 S-2503 SPEEDO 
SPACER ASSY 4302590 1 MECHANICAL

21 K-2262 OIL SEAL 
W/SLINGER 19109 ,20807 ,20808 1 "FOR MECHANICAL 

COVER"

22 X-8L-616 CAPSCREW X 8 616 6 3/8"-16X2-3/4"

23 K-3454 SPEED 
SENSOR KIT A - 6398 ,A - 6724 1 SINGLE PICK-UP (2 

PIN)

23 K-3455
SPEED 
SENSOR KIT, 
DUAL

A - 7046 ,A - 7518 1 DUAL PICK-UP (4 
PIN)

24 7992 BUSHING 1 S-2502, S-
2859

25 14142 -O- RING 1 S-2783

26 S-2502 REAR BRG 
COVER ASSY 4303604 ,4305827 1 MECHANICAL - 4:00 

OPENING

26 S-2859 REAR BRG 
COVER ASSY 4302732 ,4305826 1 MECHANICAL - 6:00 

OPENING

Página 2 de 3Eaton Inforanger

29/05/2012http://www.inforanger.roadranger.com/epc/print.asp?modelID=189&groupID=1159



 

Página 3 de 3Eaton Inforanger

29/05/2012http://www.inforanger.roadranger.com/epc/print.asp?modelID=189&groupID=1159


